HINDUSTAN
OLYMPIAD

2015 ——

Time Limit : 1 hour Questions are present in English & Hindi All Questions Carry Same Marks
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Choose the correct answer:- 14. Arange of-

1.Delighted means a.Mountains b. Books

a.Happy  b. Careful ¢. Angry d. Easy c. Foxes d. Wolves

2. The synonym of hardworking is- 15. A group of lions is-
a. Sly b. Industrious c. Ancient d. Careful a.Den b. Pride c. crowd

3. The antonym of fresh is- 16. The past tense of creep is.
a.Rough  b. Timid c. Stale d. Real a.Creept  b.Crep c. Crept d. Creepd

4 Fill the correct adverb: | am going to varanasi 17.The male of hen is-
a.Always b. Slowly c. Tomorrow  d. Quickly a.Chick b. Chicken c. Rooster d. Cocker

5.The plural of wolf is- 18.She has money in the bank
a. Wolfs  b. Wolves c. Wolve d. Wolfes a.Any . c. Metty d. Nothing

6.There was one in the fridge. book was written by Adam.
a.Potatoes b. Boxes c. Matches d. Apple . B. Any c. This d. These

7.The frogs- 20. Vixen is the female of-
a.Croak b. Sing a.Cat b. Fox c. Horse d. Dog

8. Adverb of kind is- 21.A sport which is played with a racket and shuttle cork?
a. Kindest b. Kindly c. Kinder d. Kindling a.Cricket  b. Football c. Badminton  d. Chess

9. Varun waited- 22.The fastest running bird in the world is-
a. Patiently b. Neatly c. Early d. Hourly a.Peacock b. Ostrich c. Crow d. Kiwi

to bed just now. 22. foree =l Gl o1 qeft A § 2
A.Gone  b. Went c. Sleep d. Saw a. iR b. et c. st d. i

11. Why has she been crying morning?
a.On b.In ¢. Since d. The
12.Male of a duck is-

a. Duckling b. Swan ¢ . drake d. Stag 23. i Gt €l Tl shi e HeqH i § Heg Il © 2

a. 3@ b. T c. & d. femmr

23.Which sense organs helps to smell a rose-
a.Eyes b. Nose c. Heart d. Brain

13. Do not stand front of the TV.

a.ln b. On c. At d. Up 24 Young one of pig is called a-

a.Piglet b. Piggy c. Pup




25.The largest delta in the world is-
a.English channel b. Indian delta
c. The ganges delta d. The Mekong delta

25. fava ¥ e TSI ST BT W E ?

a. SfieTer = =e b. fea Teer

c. fg 7 Tt d. f& feni et
26.There are ................. weeks in a year.

a.50 b. 52 c. 60 d. 63
26. TH AN oo, g B €

a. 50 b. 52 c. 60 d. 63

27.The national game of brazil is-

a.Cricket  b. Chess c. Football d. Hockey

27. STSieT o1 T WA HiT T ?
afeke b=w ¢. e d. BTt

28.The planet called the morning star is ?

a.Venus b. Mars c. Jupiter d. Earth

28. 'goIE 1 AR fohE U7 I FeT a1 g ?
a. g b. HeA c. S d. geat

29. Who invented the thermometer-
a. Newton b. Santorio santorio
c. Galileo d. Archimedes

29. gyiHieY &1 ffashr fmaq fmar ?

a. = b. I FERAT
¢. Treifern d. eTehfEs
30 invented the telephone-
a.Alexander graham bell  b. Wilfred bell
c.Mercedes d. Albert Frost

30, oo T TR = STfashR fha|

a. TeTeRT=e? ATeHeel b. faeThis St

c. THES d. 3Teee W

31. Badmintion is played in a-
a.Court b. Table ¢. Room d. Ring

(2)
31. IS el Tell A e ?

a. hIe b. T c. AT d. far

32.The most populated state of India is-
a.West Bengal b. Rajasthan
c. Bihar d. Maharashtra

32. MRA N GIN A ST 9o TS R 7 2
a. Ie=s ST
c. foeR d. HERTE

b. TS

33.The largest continent in the world is-

a.Asia b. Africa c. Australia d. Europe
33. g 1 wed IST HETET ?
a. U™ b. ST c. oMo d. ™

34.Which city in India is called the lake city?

a.Jaipur  b. Udaipur c. Raipur d. Jodhpur

34. MRA % foFH 2T o1 Sl ol 9@ Fed & ?

a. SR b SER c. TR d. STegR
35.The famous sun temple is in-

a.Mahabalipuram b. Thanjavur

c. Khajuraho d. Konark

35. ufgg g afx Fal & ?

a. AETSIegH b. T=ITeR

¢. TSRTET d. ShIvmeh

36.The largest island in the world-

a.Australia b. Iceland c. Greenland  d. New Paoua
36. fma H we TeT U B A E ?

a. LA b, SEEATE ¢, Telve d. = TgsT

37.Largest state in India is .............
a.Bihar b. Rajasthan
c. Utter Pradesh d. Assam

37. YR 1 ol &S] T HIT M ?

a. foeR b. TSTE ¢. I g d. =9
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38.Chess originated in-

a.USA b. China c. Africa d. India

38. AT 1 WA HET 9 YT g ?
a.JUHT b, =S C. 3THIehT

39.The people of brazil speak-

a.English  b. Portuguese c. Spanish d. Urdu

39. SISl o AN i< | 99 Sierd & ?

a. 3ferer b, gAf c. Sfer d. 3%
40.The official residence of the US President is-
a.The Raj Bhawan b. Lok sabha

c. The president house d. The white house

40. STARERT 3 TR T SARIHIE T o 2-

a. TSI 9T b. @R W ¢ UL 9T d. e BT
41.The month of November has
a.31 b. 32 c. 30

41, JavR) 18 ¥ fepad feA 80 & 2

a. 31 b. 32 ¢ 30
42.The place value of 6 in 6848 is-

a.Hundred b. Ones c. Thousands d. Tens

42. 6848 & 3 6 T TH 1

a.¥keT b THEE c. B9 d. %%
43.The predecessor of 4500 is-

a.4449 b. 4499 c. 4449 d. 4900

43. 4500 ¥ TH H I W 3FH T ?

a. 4449 b. 4499 c. 4449 d. 4900

44 What should be subtracted from 1000 to get 7007
a.30 b. 200 c. 400 d. 300

44.1000 ¥ ¥ =41 T H 700 3T ?

a. 30 b. 200 c. 400

45.The successor of 7895 is

a.78%4 b. 7896 c. 7897 d. 7984

45. 7895 & o€ I T HE&AT A T ?

a. 7894 b. 7896 c. 7897

46.How many days are there in 3 weeks:
a.14 b. 21 c. 15

46. I TwarE H fopa ot 2 &
a. 14 b. 21 c. 15

47.The sum of 10, 20, 30, 40, is-
a.99 b. 200 c. 100

47.10, 20, 30, 40 T 3N T BT ?

a. 99 b. 200 c. 100
48.The product of 16289 X 0 will be-

a.16289  b. 162890 c. 16285

48. 16289x0 T TUT -

a. 16289 b. 162890 c. 16285
49.Multiply 10000 with 1/100 -

a.10000  b.100 c.10

49. 10000 3R 1/100 T 0T Hi-

a. 10000 b. 100 c. 10

50.The smallest whole number is
a.1 b. -1 c.0

50. e B quf T T ?

a. 1 b. -1 c.0
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